
Question 1

(1) John is likely to win. SUBJ-to-SUBJ-raising

(2) John is eager to win. Control

It is likely that John will win.

*It is eager that John will win.

The doctor is likely to examine Mary.

Mary is likely to be examined by the doctor.

The doctor is eager to examine Mary.

Mary is eager to be examined by the doctor.

Question 2

(1) Bill convinced John for John to come. OBJ control

(2) Bill promised John for Bill to come. SUBJ control

Question 3

(1) Mary is tough to please.

(2) Peter is difficult to convince.

It is tough to please Mary.

It is difficult to convince Peter.

? Mary is tough to be pleased.

? Peter is difficult to be convinced.


